Byt EXRS 1032 FERAEER L L KXKA

3 .. £
VSR T PO GERE I T
%1 & 18> %238

(10%) 1. Let f:(0,400)— R be differentiable and lim f(x)=5.

Find Lim (f(x+5)~ f(x)).

 (20%) 2. Evaluate the following limit;
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(6% @ lim 5*(1- xsin(2)).

(20%) 3. Evaluate the following integral:
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(10%) 4. Let T(o:) = Lme""x"'ldx, a € (0,4<0) . Prove

(5%) (@ I'(a+)=al(a), Ya>0.
(53%) BT =(n-D!, YneN.



a&*&x%IM%ﬁﬁﬁfﬂ%i%%ﬁ%
P75 T MR A GHAHS B ARREP

%1% %2R %2R

(20%) 5. Let A=

3 2 1
01 21
01 -1

(5%) (a) Find 47",
(15%) (b) Find the eigenvalues of 4 and a non-singular matrix, P, such

A 0 0
that P4P={0 4, 0.

0 0 4

(10%) 6. Show that if 4> =A4,andif A isaneigenvalue of 4, then either =1
~ or A=0. |

1 3 o
(10%) 7. Let A= [2 4} . Find a symmetric matrix, B, such that x”4x =x"Bx,

Vx e R?.





